J:iﬁ%
Vision®F14$iEk
Q-Line 101

1 7= ik

1.1 B
+ DN32-DN300/1%-12 "

1.2 B

SCH10, SCHA4OTR AN, F T HoAth 4 i 5 B JE 0 3,

1.3 FRTIEES

« 4% %3.5Mpa(500Psi)
o TAER MR T E M )i, RS A B %

1.4 INgE
< BRI, BRI, A L AWWA C606
< ROERVEER:, SVRRRFK, deE TR

2N
@ S
3 WHEH R

3.1 JhEE. BREBASELIN A GB/T 1348, f5-QT450-12

3.2 REARE (HELm)
o R PR
o e

3.3 EHE:

SN =B R
DS-1003
1.0k

i L

« E1 =JCZ0H EPDM: & T4 K. #uk. 5988, La/<, & MHiRE-40°CE125°C
© S2EEMRR QiEH T 9me . 390, a1, IEHIRE-70°CE180°C
« F2 BRIR FKME TS ma <. BB, B, &I E-30°C%200°C

LB B, SR LR

3.4 124
o TN RIS, F

.« GB/T3098.1, 9.8Z%(M16LL ) , 8.8%% (M16& Ll )

3.5 8
o DN R A RE,  H AR A
. GB/T3098.2, 8%

o

VISION

| 021-5954-6666 |



L iRy i

RESHE

Y =R
DS-1003
1.08R

4 1EEE

4.1 SCH10FISCHA0SA &

Inches

40

65
30D

100

4%0D

5%0D

150

6%0D

150

Inches

48.30
1.900

76.10[1]
3.000

108 .00[4]

4.250

133.000
5.250

159.00[4]
6.250

168.30
6.625

273.00
10.75

psi

3447
500

3447
500

3103
450

3103
450

3103
450

3103
450

2750
400

6320
1420

15730
3535

28395

6380

43325
9735

61405

13800

69085
15525

160971

36305

+ 1058 K405 i ENFPAL3
- [1] GB/T 30914NE, [2]JIS G34524M%F, [3]0.188 "EEJS4N4, [4] GB/T2183544

o SUVFIRAE S ) B AS T O bR AV R K B VBV T RERRY . 2 b BN iR KA, Wit AN 22 RN, BUERE 43/, DN100LA FI/N50%, DN100K

LL Fi/N25%.

o 1008 MR, WIAMEE I AKA R . B IE R GRS GR B DT
o FORHUKS P I 101HE 100 CLY e ek, IR iR UG8 2 ik e M o

o

VISION LEERNMEEEERAR | BEEE T WX 42882212 | 021-5954-6666 | www.visioninc.cn | 1S09001:2008 & &4 R IAIE



L iﬁ w ﬂ Y/ F; :En': iﬁoﬁ

BRESHN 1.08%

mm mm mm E mm/m mm mm mm mm mm kg
32 42.4 0-2.24 3.02 52.7 64 111 45 15 M10x50 0.6
40 48.3 0-2.24 2.66 46.4 70 117 45 15 M10x50 0.7
50 60.3 0-2.64 2.51 43.8 87 131 47 15 M10x50 0.8
65 76.1 0-2.94 2.21 38.6 104 153 49 15 M10x55 1.1
80 88.9 0-3.14 2.02 35.2 118 165 49 15 M10x55 1.2
100 108.0 0-3.54 1.88 32.8 142 197 53 23 M12x75 1.8
100 114.3 0-3.74 1.88 32.8 147 201 53 23 M12x75 1.9
125 133.0 0-4.04 1.74 30.4 168 236 51 32 M16x90 2.3
125 139.7 0-4.04 1.66 29.0 174 241 53 32 M16x90 2.5
150 159.0 0-4.74 1.71 29.8 201 267 53 32 M16x90 2.8
150 165.1 0-4.74 1.65 28.8 205 271 53 32 M16x90 2.9
150 168.3 0-4.74 1.61 28.1 205 286 53 32 M16x90 3.1
200 219.1 0-4.90 1.28 22.3 263 341 63 36 M20x100 5.4
250 273.0 0-4.90 1.03 18.0 319 402 63 36 M20x120 7.5
300 323.9 0-4.90 0.87 15.2 370 455 64 36 M20x120 11.9

1RV I o A BUR AR T A b BV R P B, DI R T Re R AS . e p Bl ool Bt AN 2e e SIS, BUE RS 2/, DN100LA R /h50%, DN100J%
PA_E 97N 25% .

2. 1008 MRk, ATAME M KA Al . B RGO A A TR

3. B ORHUAR TG FH101HE 100 CLAY vk, R UCR UG8 Y itk e M3k

o

VISION LSRR MIEEEERAR | BEEET WX E2E82215 | 021-5954-6666 | www.visioninc.cn | 1S09001:2008 & &4 R IAIE
3



